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STREAM
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OMP-1

>$ cd <$0-L3>/src

>$ make

>8 Is ../run/L3-sol
L3-sol

>$ cd ../run

>$ pjsub gol.sh



OMP-3

JAYSLNDELT
JO05L4L, WEBLEI7AILE

L 3-sol
R7YIAHER
Y )LiN—

}

INPUT.DAT
HEI77AIL

J

*

— T
—

test.inp
ERI7FAIL

(ParaView)
\_//



OMP-3

#1#HT—42 (INPUT.DAT)

100 100 100 NX/NY/NZ
1.00e-00 1.00e-00 1.00e-00 DX/DY/DZ
1.0e-08 EPSICCG
16 PEsSmpTOT
-10 NCOLORtot
B iy N
NX, NY, NZ I A TR DBEZH
DX, DY, DZ (EAE 523K BHEFZEOJINOES (AX, AY, AZ)
EPSICCG (548 BE 524K IR E R
PEsSmpTOT it T — 2 EIE
NCOLORtot I Ordering ik & Ak
=2 : MC¥E (multicolor) , ik
=0 : CM{E (Cuthill-Mckee)
=—1 : RCM{E  (Reverse Cuthill-Mckee)
<-2 : CM-RCM{E




OMP-1

go1.sh

#1/bin/sh

#PJIM -L "‘node=1"

#PJIM -L "elapse=00:10:00"
#PJIM -L "rscgrp=Ilecture"
#PJIM -g "'gt00"

#PIM —j
#PIM -0 ““test.lst“ BEEH AT 74 L4
export OMP_NUM_THREADS=16 ALy 8, B&EF =PEsmpTOT

_/L3-sol



OMP-3

IR1E[

- MC(2f) :333[m

30.0 20.0
oMC=2
BRCM(298)
16.0
B CM-RCM(20)
20.0 H
_ S— 12.0
3 8.0
10.0 I
m 4.0
0.0 L . ‘ I \ . I—._l 0.0
1 4 8 16
thread#
16 threads
MC(2): 2.42 sec.

CM-RCM(20): 2.01 sec.

dﬁ‘fkﬁ% (FX10@®EX) : 10°& 3%

, RCM(298L-~ )L ) : 224[B
CM-RCM (NC—ZO) :249|8

[ | omc=2
" | mRCM(298)

- | @CM-RCM(20)

1 2 4 8 16
thread#







TILFATRIA—FDET
HGHmiEit

STREAM
AN ILA T3y

— FORTRAN®) #
— AN LY A D2




OMP-E

AIERA IR D I F]4E (Fortran)

' do I?I I,dNCOLORtot 1. i VAL, K
omp parallel do private i i
PP do 1p= 1, Esm TO§ P 1P
Ipl= &IC 1)*PEsmpTOT + Iﬁ
do 1= S Plndex(lpl 1)+1, SMPindex(ipl)
WVAL= W(1, 2
do k= index (i-1)+1, indexL(1)
WVAL= WVAL - AL(k) * W(itemL(k),2)

enddo
g ,Z)= WVAL * W(i1,DD)
enddo
enddo
I1Somp end parallel do
enddo

» lNomp parallel ITAL YK (~16) DERK, HBDFEE
- BILICZDENZEES
— ZBDF—IIN—A~AIYENH D

BMIER DEA —/IN—NYEHIET

([
4\

10



T EiERAEROIFIE(C) ”

for(1c=0; 1c<NCOLORtot; i1c++) { ) ) ) )
#pragma omp parallel for rlvate |p, ipl, 1, WAL, j)
for(ip= O |p<PEsm | {
1 = 1C * PEsm T + Ip

for(l SMPlnde\&g E |<SMP|ndex[lp1+1] '++){
ex

WVAL =
for(J=in [ ] ] <index {]I+l

WVAL —="ALLT * W[

[|tem
@[Z][ 1] = WAL * W[DD][1];

}

» [#pragma omp parallel ITALYE (~16) DAERL, EHiED
éﬁ%f
- BILICCOIRZTES
— 2D —IN\—~"VEDLH B
BMHEZ BEFd—/IN—A YR AT

([
4\




OMP-E

BEEfE A : Overhead & (Fortran)

1$omp parallel private(ip,ipl,i,WAL,k)
do 1c= 1, NCOLORtot
1$omp do
do 1p= 1, PEsm TOT
|p1 &IC 1)*PEsmpTOT + Iﬁ i i
do 1= S Plndex(lpl 1)+1, SMPindex(ipl)
WVAL= W(1,Z
do k= index (i-1)+1, indexL(1)
WVAL= WVAL - AL(k) * W(itemL(k),2)
enddo
é ,Z)= WVAL * W(1,DD)
enddo

enddo
endd
13omp end parallel

« ZDEIITTBHEITEHST, ALYFERZEFIERAIZAD
HID—ERITEEFELH_EMNTES
» Nomp dolDIL—TH Vil 54k




BIER A :Overhead§llj& (C) 13

#pragma omp parallel private (ip, ipl, 1, WAL, J)
for(gc =0; 1Cc<NCOLORtot; ic++) {
#pragmqfoqg fag oE ToT v
or( 1p<PEsm i
p'f (ﬁ)éﬁP*FEEsm Pi] s ISMP dex[i1pl+1]; )R
or( inde |< index[1pl+ 1++
WVAL = &g E g
ex

f d
orQ= IWVAL -[: ]Al_ff]' ks e\K/d[‘HE i gemlf++ {

@[Z][ i] = WAL * W[DD][i];

« ZMDIIITFTBHILIZEST, ALYRFERFRIELAIZAD
HID—EITEERELHIENTES
» [#pragma omp for1M JL—T 3l 511t




OMP-E

%
%

%
%

%
%

%
%

%

J0455.L5E
cd <$0-L3>

Is
run short src srcO

short (Fortran®#)
cd srcO
make
cd ../run
Is L3-s0l0
L3-sol0

<modify “INPUT.DAT”>
<modify *“go0.sh”>

pjsub go0.sh

14



OMP-E 15

AR BHASEDLEN
N=128°

NCOLORtot= -20
CM-RCM (20) 5.69 sec. 5.67 sec.

318 lterations

NCOLORtot= -1
RCM (382 levels) 6.54 sec. 6.38 sec.
287 lterations



TIILFAT7RI—FDELT
BRIz HmiEE

STREAM
AN ILA T3y

— FORTRAN®) #
— AN IILYAD




OMP-3

IR1E[

- MC(2f) :333[m

30.0 20.0
oMC=2
BRCM(298)
16.0
B CM-RCM(20)
20.0 H
_ S— 12.0
3 8.0
10.0 I
m 4.0
0.0 L . ‘ I \ . I—._l 0.0
1 4 8 16
thread#
16 threads
MC(2): 2.42 sec.

CM-RCM(20): 2.01 sec.

dﬁ‘fkﬁ% (FX10@®EX) : 10°& 3%

, RCM(298L-~ )L ) : 224[B
CM-RCM (NC—ZO) :249|8

[ | omc=2
" | mRCM(298)

- | @CM-RCM(20)

1 2 4 8 16
thread#
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{165 IT7RBIELVAN?

« AEYFRE

* 16RALYEMARIICTIERATSHE, 1AL YR DIZEEEEL
T, ALYFHY @7 HY) AT EREIFIET

o« BE1THI(Ememory-boundZit=HF DIER M KXY EEE
— BITHFTE DS EIL R FE L DRRE

=

o [EIRERAREA N LLER R/ DS



BR1TH : IEF R DA ECIE
SAEY~ADEIEX
(memory bound) :[HES R
(Z4, FEM, FVYM)

{Y}= [A]{X}

do i=1, N
Y(i)=DC(i)*X(i)
do k= index(i—-1)+1, index (i)

kk= item(k)
Y(i)=YC(i) + AMAT (k) %X (kk)
enddo

enddo



THIRIRILIE : ZBITH=>ETHEE
AEYADEBEH/NPHSLY

B N

a’ll a'12 e a'1, N -1 a’l, N Xl yl
a21 a22 a2,N—1 aZ,N X2 y2
R
a'N—l,l a'N—1,2 a'N—l,N—l aN—l,N XN—l yN—l
i aN,l aN,Z aN,N—l aN,N | XN ) L YN )
{Y}= [A]{X]
do j=1, N
Y(j)=0.d0
do i; 1, N. o |
Y()=Y(@) + AG, J)*X(i)
enddo

enddo



OMP-3 21

GeoFEM Benchmark

ICCGEMD1E8E (BEIAH=FMRIT)

SR11K/J2 SR16K/M1 T2K

Core #/Node

(Pglglcgsg;)rmance 128.0
STREAM Triad (GB/s) 43.3
B/F 0.338
GeoFEM (GFLOPS) 11.0
% to Peak 8.59
LLC/core (MB) 0.75

BE{T51%/J)L73\—:Memory-Bound




OMP-E

o AEYNVKNIEZRIET HRNFI—D

— Copy:
— Scale:
— Add:

— Triad:

STREAM AN FI—5

http://www.streambench.org/

c(i)= a(i)

c(i)= s™b(i)
c(i)=a(i) + b(i)
c(i)=a(i) + s™b(i)

Double precision appears to have 16 digits of accuracy
Assuming 8 bytes per DOUBLE PRECISION word

Number of processors =
Array size = 2000000
Offset = 0

The total memory requirement is

16

You are running each test 10 times

132.4 MB (

The *best* time for each test is used
*EXCLUDING* the first and last iterations

45. 8MB/task)

Function Rate (MB/s) Avg time
Copy: 18334. 1898 0. 0280
Scale: 18035. 1690 0. 0284
Add: 18649. 4455 0.0412

Triad: 19603. 8455 0.039%4

Min time Max time

0.0279
0.0284
0.0412
0.0392

0. 0280
0. 0285
0.0413
0.0398

22



OMP-E

A7ty Y D EM
CPUMERE, ATYNUKRIEDX vy T

tinyg bandwidth == HUGE EBOTTLEMECK
1Ed | | | | | | :
188 E CFU Speed — -
- DRAM Speed — -

18

Ferformance

A.1
1975 1988 1985 193@ 1995 280A 2885 Al
Tear
http://www.streambench.org/

23



OMP-1

e

£1T:0penMP/\— 3>

>$ cd <$O0-stream>
>$ pjsub run.sh



OMP-1

run.sh

#1/bin/sh

#PJIM -L "‘rscgrp=tutorial™
#PJIM -L ""node=1"

#PJIM -L "elapse=10:00"
#PIM -]

export PATH=..

export LD LIBRARY_PATH=..
export PARALLEL=16

export OMP_NUM_THREADS=16

_/stream.out > 16-01.Ist 2>&1

ALy F# (1-16)

HAOO 744

25



OMP-1

TriadD#5 R
<$O-stream>/*.Ist

1 8606.14 1.00
2 16918.81 1.97
4 34170.72 3.97
38 59505.92 6.91

16 64714.32 7.52






YILFATRA—FDET
BiiHEEik

STREAM

AN IVA Ty

— FORTRAN® &
— AN ARD S
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ccNUMA Architecture
* Multicore-Multisocket

o« B YRMNA—AHILIZATEY

ZFOTLNS mirriv e e M e
— cc-NUMA : cache-coherent- lelelelcla clelclelcele
Non-Uniform Memory Access | X |

— O—NILDAEVETVEALT clclc|clc|c clc|clc|c|c
BRI SLILGETRIIET,
T—RELE, TSI
(numactl) B L E

— T2K, Cray XEG6 etc.

« $FIRITEREL
— First-Touch Data Placement
— Sequential Reordering

« B FX10 — Flat, UMA




30

First Touch Data Placement
B DAE -R— -
A ZtouchL-a7oO—Ah)LAEY EIZHER
FHELFEICIEZE THHAE

do lev= 1, LEVELtot
do 1c= 1, COLORtot(lev)
1Somp parallel do private(ip,i,j,isL,ielL,isU,iel)
do 1p= 1, PEsmpTOT
do 1 = STACKmc(ip,ic-1,lev)+1l, STACKmc(ip,ic,lev)
RHS(1)= 0.d0; X(i)= 0.d0; D(i)= 0.dO

iIsL= indexL(i-1)+1
1eL= 1ndexL(1)
do j= i1sL, 1eL
itemL()= 0; AL()= 0.dO
enddo

iIsU= 1ndexU(i-1)+1
1eU= 1ndexU(1)
do j= 1sU, 1eU
itemu@)= 0; AU(g)= 0.dO

enddo

enddo

enddo

1Somp omp end parallel do
enddo
enddo



%zw KETAERYT7 ORI EHRELD
FONZEEHHUVEZ, Isequential ]
5 colors, 8 threads

Initial Numbering

Coloring color=1 color=2 color=3 color=4 color=5
(5 colors)
+QOrdering *
BALYR ETHE
T color=1 color=2 color=3 color=4 color=5
BEAEYT IR

(B OIRIZES1413)1)2]3/al5|6| 7| [2]2[3]4]5]6|7[8 |1|2[3]4/5]6]7 |1]2/3]4]5]6|7 | |2]2[3[4]5]6|7 /@

1[1]1[1]1||2]2|2]2|2] |3]3]3|3]3] [4]4]4|4]4| [5]5]5]5]5) |6|6]6 6] 7] 7|7| 7|7 | ElEIEIEIE
ALYyRATERGIZESfFT




%zw KETAERYT7 ORI EHRELD
FONZEEHHUVEZ, Isequential ]
5 colors, 8 threads

Initial Numbering

Coloring color=1 color=2 color=3 color=4 color=5
(5 colors)
+QOrdering *

color=1 color=2 color=3 color=4 color=5

Coalesced QNEEAERE INEERERH  EERERE  IREERERE IREEREE

SOERIEN |1/1/1]1]1][2]2]2]2]2 |3[3]3]3]3][4]4]4]4]4| 5|5]5]5]5) [6]6]6|6 6| | 7]7|7|7|7| EIEEER




Hopper & Oakleaf-FX

Cray XE6 FX10
Hopper Oakleaf-FX

Peak Performance/core (GFLOPS) 8.40 14.78
Core #/Node 24 16
Peak Performance/node (GFLOPS) 201.6 236.5
85.3 85.3
Peak Memory Bandwidth/node (GB/sec) 8xDDR3 8xDDR3
1333MHz 1333MHz
Triad Performance/node (GB/sec) 52.3 64.7
Triad Performance/core (GB/sec) 2.18 4.04
B/F Rate 0.260 0.274
GeoFEM Bench/ICCG (MFLOPS/core) 469.8 1011.3

GeoFEM Bench/ICCG (GFLOPS/node) 11.28 16.18

33



Optimizations for ccNUMA are not

effective on Oakleaf-FX

Poisson’s Equations, ICCG/CM-RCM(2), 1282 unknows
Time for ICCG solver until convergence (318 iter’s).

Oakleaf-FX
Cray XEG6 (not optimum
(Hopper) compiler
options)
Original 18.1 sec 5.62 sec
+ First Touch /.81 sec 5.94 sec
© SEgUEtE] 5.04 sec 5.84 sec

Reordering

34



SPARC64™ |Xfx

« HPC-ACE (High Performance
Computing — Arithmetic Computational
Extensions)

— Enhanced instruction set for the SPARC-
V9 instruction set arch.
« High-Performance & Power-Aware

— Extended number of registers
* FP Registers: 32—256
« Software Pipelining is useful

— S/W controllable “sector” cache
« UMA, not NUMA
* H/W barrier for high-speed

FP Reg

SIMD

(basic)

224

SIMD
(extend)

35

synchronization of on-chip cores



OMP-E

IUOW}

Pipelining + SIMD

O O | >

OO | | >

OO | | >

OO | | >»

LSO ESHEFHARETHNIE: -

doi=1, N-1

Y

O O |

36



BiTa—FOEE

- BRAIL—TOREH(L—TR) A
L

- LWORWRTRATUVIL, RKTE6 O

- RINARZZEIHALT=ARN TIIE
HHDIENEEX6ITELAY, BEHE

2B LI

— Software Pipeliningm®#iE12<Ly

A

EFEE %% (GeoFEM Benchmark)

FZEMEREA H T LY

— 2TRATUVIL

37



8

Hopper & Oakleaf-FX: 27-pt. stencil

Hoober Oakleaf
PP FX

Peak Performance/core (GFLOPS) 8.40 14.78

Core #/Node 24 16

Peak Performance/node (GFLOPS) 201.6 236.5
85.3 85.3

Peak Memory Bandwidth/node (GB/sec) 8xDDR3 8xDDR3
1333MHZz 1333MHz

Triad Performance/node (GB/sec) 52.3 64.7
Triad Performance/core (GB/sec) 2.18 4.04
B/F Rate 0.260 0.274
GeoFEM Bench/ICCG (GFLOPS/node) 11.28 16.18

GeoFEM Bench/ICCG (MFLOPS/core) 469.8 1011.3



A IL—T RIEEH N DT WNGE

AN - ERAA T3> (Fortran® &)

HX
LA

-Kshortloop= N (N:2-10), -Knoshortloop (default)
RN{EIIL—T D@ Unrolling (N/2E%)
TNk

— I DITINATZA=2Y

AN

o

i VE 2

IW—TRSAMEVT

O ER M I0KY REVWEZICIETET HEMENMET I 515
=XV,

B (1283, CM-RCM(20)) on FX10@ZE X

Default: 5.62 sec.

Kshortloop: 5.39 sec. (N=2), 5.39 sec. (N=3), 5.61 sec. (N=4)
« ZNTHCray XE6LYIELY

39



F24) b AN IL-ZEST

>$ cd <$0-L3>/src

>$ make
>$ Is ../run/L3-sol o -Qt
L3-sol — AV LY AR A
>$ cd ../run
>$ pjsub gol.sh — * Ist
FO0 = fr%px _
FOOPLAGS =3(FO00PTFLAGSY ~ o e CTIHI-QUIFEAFEEA,
Kshortloop [-Nsrc ]z {#E->TLf=&lY,
>$ cd <$0-L3>/short — HEIZHETLEWNETA
>$ make
>$ Is ../run/L3-sols
L3-sols

>$ cd ../run
>$ pjsub gos.sh
FO0 = frtpx

FOOOPTFLAGS= -Kfast,openmp -Kshortloop=3 -Qt
FOOFLAGS =$(FO00PTFLAGS)

40



* .IstDRA

(line-no.)(nest)(optimize)
; niroutie i 1 W= T
<<#Toop-information Start > L —TREERR
<<< [PARALLELIZATION] (L—THE. V—TZHE)
22~ <<< Standard iteration count: 800 ® SIMD{LiE#R
<<< [OPTIMIZATION] B HEEE
TES . :I(;nF[')I'WARE PIPELINI M VI rAR (=27
= “
\ AR e GO e 555 m J)IzyFER
do i=1,n
a(i)=b(i)+b(i+1)+b(i+2)
enddo
1B ORELEHR

Procedure information
Lines :6
Statements : 6
Stack(byte): 64

Prefetch num: 0

R R

5
B SIMD{L1H#R

m iFHETER

B L—T7ro—) 5 BRK
B (US4 REAER

41



SIMDIF %R

/7 DOJL—F DSIMDIL1E IR
v :SIMDiEEh 1=

~N O OB

= NN DN

m :SIMDitEh =8 A ESIMDiEEh > =-BaEE T
s :SIMDiEEh7Ehof=
2 A :SIMDIEX &R Ty

<A< Loop-information End >>>

doi=1,n
a(l, j) = b(i, j)*2.0
@ enddo
enddo

SIMD{iEEh 1=

ETXDSIMDIL IR

v :SIMD{baET &k

m :SIMD{E R REZ B A &ESIMDIE A AT REL A 2 ST
s :SIMD{EFTTHE

42



B Ehilli 5115 R

/| DOL—F DHEFHLEH

(line-no.)(nest)(optimize)

<<< Loop-i
<<< [PA

SIMD — | W—T DO#ELEA
<<<L Loop-information End >SS 177819..!:0)B#ld:!tﬂ§ﬁ
; 1778KH DF X ERELT
doi=1,n
a(i)=cnst
enddo

\
\
\

pp : #Fl{exh iz

_ s MFfEEhighor:
formation Start | g . s5) st g Tl

RALLELIZATION]

m :FeShizga Lt TbehGh = BaE2E8TC

tandard iteration count:
[OPTIMIZATION]

N

EITX DA FHEIEH

p :dF{EETRE

m i S LR RE L ER S L X HEF AT e MR E BT
s :dF{EFATRE

43



101
102
103
104
105
106
107
108

109
110
111
112
113
114
115
116
117
118
119
120
121
122

123
124
125
126
127
128
129
130

DRRWWNNRRRRPNWWW NRRRR R

NNWhARIOIOT

solver_ICCG_mc.Ist (src)

TTTT TTTT

TTTTTOT

8v
8v

1C

IC:::

1$omp parallel do private(ip,i)
do ip= 1, PEsmpTOT
<<< LooB information Start >>>
<<< [OPTIMIZATION]
<<< SIMD
<<< SOFTWARE PIPELINING
<<< Loop- |nformat|on End_>>>
do 1 _= SMPindexG(ip-1)+1, SMPindexG(ip)

endgo Z) (R

enddo
1$omp end parallel do

Stime= omp_get_wtime()
call fapp_start (“precond™, 1, 1)
do 1c= 1, NCOLORtot
I$omp parallel do rlvateglp,lpl,l,WVAL,k)
do |p 1, PEsmpTO
&IC 1)*PEsmpTOT + ﬁ
do |— s Pindex(ipl-1)+1, SMPindex(ipl)
WVAL= W(i,2)
<<< LooB information Start >>>
<<< OPTIMIZATION]
<<< SIMD
<<< SOFTWARE PIPELINING
<<< Loop-information End >>>

do k= indexL(i-1)+1, inde xg(i)
WVAL= WVAL - AL(k) * W(itemL(k),2)

enddo
g ,Z)= WVAL * W(i,DD)

enddo

enddo

1$omp end parallel do
enddo
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101
102
103
104
105
106
107
108

109
110
111
112
113
114
115
116
117
118
119
120
121
122

123
124
125
126
127
128
129
130

solver ICCG_mc.lIst (short)
SOFTWARE PIPELININGAYEL

DRAWWNNRPRRRPNWWW NRRRRRRER

NNWAB_~OIOTOT

TTTT TTTT

TTOTTTTO

WWWwWwww

<<<

IC:::

1$omp parallel do private(ip,i)
ip= 1, PEsmpTOT
<<< LooB |nformat|on Start >>>
<<< OPTIMIZATION]
<<< SIMD
<<< Loop- |nformat|on End_>>>
do 1 SMPiIndexG(ip-1)+1, SMPindexG(ip)

endgo Z) WEr-R)

enddo
1$omp end parallel do

Stime= omp_get wtlme()
call fapp_start (“precond™, 1, 1)
' do I?i I,dNCOLORtot 1. i WAL K
om aralle 0 private i i
L do i = 1, PEsm TO% oLl
&IC 1)*PEsmpTOT + Iﬁ ) )
do |— S Plndex(lpl 1)+1, SMPindex(ipl)
WVAL= W(i,2)
<< LooB |nformat|on Start >>>
<<< OPTIMIZATION]
<<< SIMD
<<< Loop-information End >>>
do k= indexL(i-1)+1, indexL(1)
WVAL= WVAL - AL(k) * wW(itemL(k),2)

enddo
g ,Z)= WVAL * W(i,DD)
enddo
enddo
1$omp end parallel do
enddo
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B R

* AVNAZDRRFAEIZEET Y

— FORTRANI[ZZNTEMNGEY RLY

— C, C++

« NUMAMR]IT5xE 1t
— I, FX10IZIEZhh VALY

- EIFE A, PoEKTRLVDIF TR

- FROT—FTOF
1$omp 3gr?llil ﬂo private (i,VAL,J})
VAL= D(i)*W(i,P)
do j= 1, INL(D)
VAL= VAL + AL, 1)*W(IAL(,1),P)
enddo
W(i,Q)= VAL
enddo

N= 643: 2.99 GFLOPS
N= 1003: 5.57
N= 1283: 3.57

-Kfast, openmp

1$omp ggr?llil ﬂo private (i,VAL,j})
VAL= D(i)*W(i,P)
do Jj= 1, 6
VAL= VAL + ALQj,i)*W(IAL(,i),P)
enddo
W(i,Q)= VAL
enddo

N= 643: 4.89 GFLOPS
N= 1003: 7.36
N= 1283: 6.70
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